Ecuaciones Bicuadradas

ECUACION SOLUCION ECUACION SOLUCION
1) x*-25¥¢+144=0 (x=%4,+3) 2) 4X+19%8-5=0 (x=+1/2)
2
3) x'-29¢+100=0 (x=+5+2) 4) 9X'-40%+16=0 [X=i2,i§j
5) x'-13%+36=0 (x=+2,+3) 6) x'+4X¥+3=0 ( No tiene)
7) x*+5x2 +4=0 (No tiene) 8)  2¥-3x¥-20=0 (x =+2)
9) 4X'-37¢+9=0 (x=+3x=+05) |10) ¥-8¢-9=0 (x=%3)
11) X'—24%-25=0 (x=45) 12) ¥ -5¢¥+4=0 (x=#%2,x=2%1)
13) X -¥+1=0 (no iene) 14) 2%+9¥ =68 (x=2%2)
4 1.1
15) ¥ +3¥-10=0 (xziﬁ) 16) 36x-13%+1=0 =t k2
4 — 2 4 _ 1
17) 9X + 16 = 40% x-J_rz,w_L§ 18) 4X-5¢+1=0 X—il,iE
19) ¥-5¢-36=0 (x=+3) 20) X¥+x¥+1=0 ( no fene)
21) X'-10¢+9=0 (x=%3,x=2%1) 22) X'-16=0 (x=%2)
2
23) X'-9¢=0 (x =0,x=%3) [24) X +5%-4=0 [xzigj
25) 3%¢-26X-9=0 (x =+3) 26) X —178+4=0 (x=#2x=+0'5)
27) ¥ +2¢-3=0 (x=%1) 28) 2®¢-¥-1=0 (x=%1)
29) X'-3%+2=0 (x=+1x=2/2) |30) 4¥-13¢+9=0 (x=ig,x=tlj
31) ¥-72+12=0 (x=2y3.£2) 32) 3¢ +X¥—4=0 (x=+1)
33) 8X-X-7=0 (x=%1) 34) 5¢-6X-351=0 (x=%3)
35) (¥—4)(®+1)=0 (x=+2) 36) (2—5)(¥-3)=0 (x=2y3.2/5)
_ 5 2 - 3
37) (¥-3)(9%-25)=0 X=+ 3,15 38) (K*-1)(4¥-9)=0 x=tlt>
2
39) %ﬂ: -4 (x=1%5+2) 40) x2+%=7 (X:i 2,¢ﬁ)
2 2-x 1232 +8 -
41) X _= = = 8x2
) Xt2 242 (x=%1) 42) e a 8x°+6 No tiene
43) =X (x=15,0) agy X% 28 (x =5, +4)
x2-9 72 ' 4 X2 -9 -
2 _225 _ ,_ 12 ~
45) 3a-x? =% (x=15,3) 46) x*=—3" (x=+y3)






